Math 200 - Quiz 9
April 11, 2012
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Show all work to receive full credit. Supply explanations when necessary.

1. (1 point) Use an integer subtraction model to model —3 — 2.
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2. (1 point) What is the additive inverse of y — 67 After answering that question, use o
your additive inverse to simpifly 8 + y — (y — 6).
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3. (1.5 points) Compute each of the following. 5 \ k{
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(b)3_(_5) = 3-\.5: 8
(c) 8% (=7) = '~ 56
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5. (0.5 point) Suppose z is a negative integer and y is a positive iiteger. What isthe sign =+ 0
of —z + (—y)? Explain.
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